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9.20|2 &EE

SO0|A & J|¥E 0|87t 0|2 Z(lonic bond) EAl HH

L+ SFT —— s

1s22s!  1s22s22p>  1s?  1s22s22pé

‘Li — Li*t + e

i+ + SFe— LiFsFe-
[He] [Ne]



2Ca(s) + O, —— 2Ca0(s)

.Cq. + o:cio CC|2+ :.O.: 2-

4Li(s) + O,(g) —— 2L1,0(s)

2°Li + °:(§° — 2 Li* :.0.:2'

3Mg(s) + N,(g9) ——> Mg;N, (s)

3°Mg* + 2°N* — 3mgr2se®
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24X} o L4X|(Lattice energy, U) : 1K O|2 e YAUE 1 mol&
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=-oltH =2t (Born-Haber cycle)
gt

2= AXOHX|E 0|22 BHE & 0|5 010 F0H=

Li(s) + %Fz(g) —> LIF(s) AHZ ; =—594.1kJ / mol

1. Li(s)—— Li(Q) AH; =155.2kJ / mol

2. %Fz(g)—> F(g)  AH;=75.3kJ /mol

3. Li(g)—— Li"(g)+e” AH; =520kJ / mol
4. F(g) +e —— F(9) AH, =-328kJ / mol

5. Li*(g) + F(g) —> LiF(s)  AH:=?
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AH2=-1017kJ
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Rl 3 VLK 2| 353 | ESSe ERHEE R MelE | ZX} iU Xt 5=

Sit=E 24X} of| 4 X|(kJ/mol) ==3(°C)
LiF 1017 845
LiCl 828 610
LiBr 787 550
Lil 732 450
NaCl 788 801
NaBr 736 750
Nal 686 662
KCl 699 772
KBr 689 735
KI 632 680
MgCl, 2527 714
Na,O 2570 3
MgO 3890 2800

*Na,0% 1275°Co]| 4] £8)5h}.
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58 & (covalent bond) :
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2 el Z&! Zol(pm)
74 pm 161 pm C—H 107
-«»> c—o 143
c=0 121
c—C 154
* C—=C 133
c=C 120
H. C—N 143
- C= 138
C=N 116
N—O 136
N=0 122
O—H 96
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3=
NaCl CCly
HlAN 51 5] A ]

==H(°C) 801 —23
= §8%2% (kJ/mol) 30.2 25
=H(°0) 1413 76.5
= 5 2E* (kJ/mol) 600 30
U (g/em’) 2.17 1.59
=°f digt &= Lo oo Lko
A7 A==
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A = L
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XJ1& /8 £ (Electronegativity) : =B X|
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Na Mg Al Si P 5 Cl
09 | 1.2 | 38 48 SB 6B TB —8B—— IB 2B | 15 | 1.8 | 21 [ 25 | 30
K Ca Sc Ti v Cr Mn Fe Co Ni Cu In Ga Ge As Se Br Kr
0.8 1.0 1.3 1.5 1.6 1.6 1.5 1.8 1.9 1.9 1.9 1.6 1.6 1.8 2.0 24 2.8 3.0
Rh Sr Y Lr Nb | Mo | Te Ru | Rh Pd Ag | Cd In Sn Sh Te | Xe
0.8 1.0 1.2 1.4 1.6 1.8 1.9 2.2 22 2.2 1.9 1.7 1.7 1.8 1.9 2.1 2.5 2.6
Cs Ba |La-Lu| Hf Ta W Re 0s Ir Pt Au Hg Tl Ph Bi Po At
07 0.9 1.0-1.2 1.3 1.5 1.7 1.9 2.2 22 2.2 24 1.9 1.8 1.9 1.9 2.0 22
Fr Ra
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9.10 & & AET

28 A= (bond enthalpy) :

714l EXI TmoledilM E78 222 B& [ E2THX
o

H 2

H,ld —— HIg + Hlig AHe = 436.4 k)
Cl,(g —— Clig + Cl(@  AHe =242.7 kJ
HCl( — HI(g + Cl(gg  AH°=431.9k
0,99 —— Olg + Old AH° = 498.7 kJ
N,[d —— N(g + Nig AHe = 941.4 k)
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He 22 < 0|F 8 < &F &8
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H0lg —— Hig+ OH(@  AH° =502kl

OHlg —— HI(g + O(g  AH° =427kl

502 + 427+ ...
3 OH A8t e = = 460 kJ
N

34



O|24K} Exjol et Z2 A9} CIRIR BRI Fol Tt B Zgt wem)

=2 ZEHA=nl(kd mol) gt 2 AETi(kJ/mol)
H—H 4364 c—l 240
H—N 303 c—p 263
H—0 460 C—S 255
H—S 368 C=S 471
H—p 326 N—N 193
H—F 568.2 N= 418
H—Cl 4319 N=N 9414
H—Br 366.1 N—{) 176
H—I 208 3 N=0 607
C—H 414 O—0) 142
c—C 347 0=0 498.7
C=C 620 O—p 502
C=C 812 0—S§ 469
C—N 276 pP—p 197
C=N 615 P—P 489
C=N 891 5—5 268
C—0 351 S=S§ 352
c=0"' 745 F—F 156.9
C=0 1076.5 Cl—Cl 242.7
C—F 450 Br—Br 192.5
C—Cl 338 I—I 151.0

C—Br 276



ots AMEO =3Ot

CH, (g) + 20, (g9——CO, (g/) + 2H,0 () A H=-890.4 kJ/mol

- B BEANELE 0|50 =85
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